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Ci| Xi X1 Xy X3 x4 XE xé bi
3 Xq 1 1 0 217 1/7 -1/7 46/7
2 X3 0 1 1 -1/7 417 af7 19/7
C 3 7 2 M 0 M
Zj 3 5 2 417 -5/7 5/7
A 0 2 0 M-4/7 5/7 M-5/7 | z=176/7
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Ci| Xi X1 X, X3 x5 Xg xg X5 bi
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Ci| Xi X1 Xy X3 xg xE xé X5 bi
3] x 1 1 0 0 0 -1/3 1/3 19/3
2 | xs 0 1 1 1 0 4/3 -4/3 11/3
0] Xx¢ 0 0 0 2 1 4/3 -7/3 5/3
Ci 3 7 2 M 0 M 0
Zj 3 5 2 2 0 5/3 -5/3
Aj 0 2 0 M-2 0 | M-5/3 53 | z=79/3
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Ci| Xi X1 Xy X3 xq XE xg X5 X§ bi
3| x 1 1 0 0 0 -1/3 1/3 0 19/3
2 X3 0 1 1 1 0 4/3 -4/3 0 11/3
0| X¢ 0 0 0 2 1 4/3 -713 0 5/3
0| X§ 0 0 0 0 0 -1/3 -2/3 1 -2/3
C; 3 7 2 M 0 M 0 0
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Ci| Xi X1 Xy X3 xq XE xé X5 X§ bi
3 Xq 1 1 0 0 0 -1/2 0 1/2 6
2 X3 0 1 1 1 0 2 0 -2 9)
0| X¢ 0 0 0 2 1 5/2 0 -112 4
0| X7 0 0 0 0 0 1/2 1 -3/2 1
Ci 3 7 2 M 0 M 0 0
Zj 3 5 2 2 0 5/2 0 -5/2
Al 0| 2] 0 | M2 0 |MB2| 0 5/2 | z=28
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